H & 0l & AHS B Ml A

CAsE
HY2SA(ZAISHL)
I2ZHI(ZSAIsL D) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAlsE 2,191,679 1,723,762 467,917
= 620,317
Al 369,884
- 1,211,478
HY2EIH(SAIsE D) 24,540 42,502 A17,962
Jl2ZH(EA=sE) 24,540 42,502 A7,962
Jl23HI(EA=ZD) 24,540 42,502 17,962
201 et23| 12,330 23,32 A11,082
01 AtR2t2|HI 12,330 23,392 A11,062
ORANEgdit=ZH] 5,400,000 «05% 5,130
OJlzge=dS2 Al 7,200
—J|2gR+-AS20HA
8,000 x15E +53|x 122 7,200
202 04l 9,360 15,120 Ab,760
01 =LHA LI 9,360 15,120 A5,760
OJI2gF+d=50i
60,0002 x 13 =122 9,360
203 =4l 2,850 3,990 1,140
M FA2SHIFII 2,850 3,990 1,140
ORMEEE =2
250,000 x 122 x95% 2,850
£2 SXsE g 1,815,561 1,345,276 470,285
= 584,406
Al 273,545
- 957,610
N2 - dEg st 4o X 1,132,697 970,464 162,233
= 440,706
Al 182,923
- 509,068
sg oF N 78,150 70,182 7,968
201 er23 | 74,730 55,832 18,898
01 At2teltl 42,330 7,308 35,022
Osgatd A 728 200,000 200
OsdyoRds 84 =&
70,0003 x21Z 12 1,470
OsX?ds 4 =4
70,0002 * 12 *302 25,200
OskolE2el 10,000,000 10,000
STAH 224 1,500,000 1,500
OLEEZ S8 3,960
—S2HA 11,0002 %253 12 3,300
— A= 11,0002 52|« 12& 660
02 S5=2g4l 32,400 48,524 A16,124
OXtgrset] 24,000
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A EAISSHL
B M)|ES 2NsE A
&l NEE - dEE st 4o N (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 5,000
SIIEHIE XIS (HEAL) 364,651 364,651 0
Al 132,003
- 232,648
307 212+01& 364,651 364,651 0
Al 132,003
T 232,648
02 2IZHBHAIHE £ 364,651 364,651 0
ORJIZdlzs XI&E 364,651,000 364,651
Al 132,003
- 232,648
EHEH XIH 13,870 3,528 10,342
= 10,434
Al 1,718
- 1,718
307 el2to| & 13,870 3,528 10,342
= 10,434
Al 1,718
T 1,718
02 2IZHB A E & 13,870 3,528 10,342
OE2MEHM K& 13,870,000 13,870
= 10,434
Al 1,718
- 1,718
AUBHE S5 25,080 25,080 0
Al 12,540
- 12,540
307 el2to| & 25,080 25,080 0
Al 12,540
- 12,540
02 QIZtEHAEE X 25,080 25,080 0
OLlsoE 35 AL
25,080,000 25,080
Al 12,540
- 12,540
HESS SsAY 4,858 5,044 A186
Al 2,429
- 2,429
307 elztol & 4,858 5,044 A186
Al 2,429
- 2,429
02 2B YA R E A 4,858 5,044 A186
OH 255 XA 4,858,000 4,858

_3_




A EAISSHL
M MBS =NsE A
&l NEE - dEE st 4o N (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,429
T 2,429
sttt ESo LMA2 A 77,000 77,000
307 el2to| & 77,000 77,000
02 2IZHBYAIHE & 77,000 77,000
OsZ= Sl XA
77,000,000 77,000
s XZ A 60,000 60,000
307 212+01& 60,000 60,000
02 LB HAHEE 60,000 60,000
Og=sTH XI& A 60,000,000 60,000
gt A"EsIIH XA 7,920 7,920 0
Al 3,960
- 3,960
402 2I2F X201 & 7,920 0 7,920
Al 3,960
- 3,960
02 QI XHZ AL E R (01X THE) 7,920 0 7,920
OzlEd 2s=sIIH NEAE
7,920,000& 7,920
Al 3,960
- 3,960
IS sEES2d HLSA 25,680 24,600 1,080
Al 12,840
- 12,840
307 elztol & 25,680 24,600 1,080
Al 12,840
- 12,840
02 2IZHBYAIHE A 25,680 24,600 1,080
OJtslitl =88 2ZHE N3 A
25,680,000& 25,680
Al 12,840
- 12,840
CAZ2RsSSRFAS 32,178 89,680 A57,502
Al 16,089
T 16,089
402 QI”F X201 & 32,178 89,680 A57,502
Al 16,089
- 16,089
02 QI X2 AL E R (01X THE) 32,178 89,680 A57,502
OEAIZusS A3 32,178,000 32,178
Al 16,089
- 16,089




2A:

X XH -
o=

Giel: DEE - AEY =42 MY N (crsl ma)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FRL=2cd K& 1,000 1,000 0

= 1,000
201 et 3| 1,000 1,000 0
= 1,000
01 AtR2te|Hl 1,000 1,000 0
OgF=acltl 1,000,000& 1,000
= 1,000
SAZAMEBER THE 8,960 11,069 22,109
= 6,272
Al 1,344
- 1,344
101 @124H| 8,960 11,069 22,109
= 6,272
Al 1,344
- 1,344
M ORNZZ2NSE S 8,960 11,069 22,109
OsAEAEEE W2 7,200,000 7,200
= 5,040
Al 1,080
- 1,080
OsXIZA 2SI 1,760,000 1,760
= 1,232
Al 264
- 264
IEMA & SHHL DIEIAE 2| 80,000 60,000 20,000
S| AR 80,000 60,000 20,000
401 AIEHIZ SR 0HYI 80,000 60,000 20,000
01 Al&HI 80,000 60,000 20,000
OsYULDIBIAIE RAIE 24|
4,000,000& * 152 60,000
O=g Mol s & L=+l
2,000,000& 102/ 20,000
CASSFEANFA 393,240 113,590 279,650
= 143,700
Al 48,810
- 200,730
CASSELEE A 54,500 55,450 2950
201 fer23y| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
OF A= 243 AlE 2€H|
1,500,000& 1,500
206 M=l 53,000 53,000
01 MHZHI 53,000 53,000




2A: SAsE
i AD|ES 2R == AlS

ol ZAsgESdXIE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSH e =d At 50,000,000 50,000
O=sH &g 25 7 3,000,000 3,000
ZSSSUA WA X 57,000 58,140 21,140
= 28,500
Al 14,250
- 14,250
307 el2tol & 57,000 58,140 1,140
= 28,500
Al 14,250
T 14,250
02 2IZHBHAIHE £ 57,000 58,140 1,140
OZSS=2Wa VYA X2
57,000,000& 57,000
= 28,500
Al 14,250
- 14,250
MR FEHsatE 20X 230,400 0 230,400
= 115,200
Al 34,560
- 80,640
307 elztol & 230,400 0 230,400
= 115,200
Al 34,560
- 80,640
02 LB HANHEE 230,400 0 230,400
OYLE HBASAS F2H0IXL
480, 0002 600 +8(% 230,400
= 115,200
Al 34,560
- 80,640
LE=MEAl ol=REXE 51,340 0 51,340
206 MH=HI 5,700 0 5,700
01 MHZHI 5,700 0 5,700
gl ¥ SIS ]
5,700,000& 5,700
401 AIEHIX R0 45,640 0 45,640
01 A28l 45,640 0 45,640
Osgxdl & RA2+
33,000,000& 33,000
OHIEotRA & 2=AlE £X|
12,640,000& 12,640
sttE R8s S8t st 25 Sl 176,420 170,080 6,340
Al 35,710
- 140,710
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MEE
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52,920
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Al
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Al
Al
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6,102
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Al

Al
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12,204
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11,000
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11,000

Al
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10,000
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351,578
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A EAISSHL
B ESpAMAY
el JIEEdEY A oY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 210,700
a2 29 10,800 10,800
301 EetE2 NS 10,800 10,800
14 0Bt 2a3 10,800 10,800
O8=+2 29+ 900,000& * 122 10,800
S=SEM XN AME 12,000 12,000
301 22N = 12,000 12,000
14 JIEt2 8= 12,000 12,000
OS2S= U8 242
10,0002 *1,2005 12,000
=) SSE2SUM At 113,108 105,408 7,700
Al 21,600
- 91,508
201 er2 3| 3,308 2,808 500
01 AtR2t2|HI 3,308 2,808 500
ORJIs=S EZ2ZHl #]
100,000 *10H 1,000
Oss2s 2d 224 2,000,000 2,000
Oosd= 86,4003 43|~ 123 308
301 LEtE N = 109,800 102,600 7,200
Al 21,600
- 88,200
4Bt 2as 109,800 102,600 7,200
OS=23 BlZAE =&
50,0002 *x38 * 122 1,800
ORJIS=E 2l 120,000 9005 108,000
Al 21,600
T 86,400
Ordistel S= Z2H N 5,000 9,000 24,000
Al 1,500
- 3,500
301 eEetE2 N = 5,000 9,000 24,000
Al 1,500
- 3,500
14 0Bt 2as 5,000 9,000 24,000
OOtMslEl 9712 S4ZE
500,000& *105 5,000
Al 1,500
T 3,500
B - RIIsES 7L - 25 HIE X 12,600 12,600 0
= 3,780
Al 4,410
T 4,410




2A:

CAsE
B ESpAMAY
&Rl JIEEdgY 2 oY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 12,600 12,600 0
= 3,780
Al 4,410
- 4,410
14 JIEt2 = 12,600 12,600 0
ORXESH K& 70,0002 * 1805 12,600
= 3,780
Al 4,410
- 4,410
= - RIIS=S 2l X 9,000 8,700 300
= 4,500
Al 2,250
- 2,250
301 LEtE NS 9,000 8,700 300
= 4,500
Al 2,250
- 2,250
4Bt 23 9,000 8,700 300
ORIISS YA X2
250, 0002 *60*60f% 9,000
= 4,500
Al 2,250
- 2,250
2020l S4sts==Hl X2 41,000 40,000 1,000
= 8,200
Al 12,300
- 20,500
301 EtE N = 41,000 40,000 1,000
= 8,200
Al 12,300
T 20,500
14 IIEt2 83 41,000 40,000 1,000
00l BHs42(2H)
200,000 2055 41,000
= 8,200
Al 12,300
T 20,500
2020 Sdat==Hl X (X1gl) 31,000 28,000 3,000
Al 9,300
- 21,700
301 EtE2 NS 31,000 28,000 3,000
Al 9,300
- 21,700




A EAISSHL
B ESpAMAY
Rl DS gEY 2o ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 31,000 28,000 3,000
OZAIHLXIY S 2DB0| 2 TW 4lAl
200,000& * 15655 31,000
Al 9,300
- 21,700
2 MLFA Hal 7Y 2,080 2,106 26
= 687
Al 293
- 1,100
206 M=l 2,080 2,106 AVZ)
= 687
Al 293
- 1,100
01 MZH| 2,080 2,106 AVZS)
OBAY GILFAL Al Pl
1,600& 1,300 2,080
= 687
Al 293
T 1,100
28 HLEE Al=Hl Td A 6,500 6,500 0
Al 3,250
- 3,250
201 fet= 3| 6,500 6,500 0
Al 3,250
- 3,250
01 At22t2l] 6,500 6,500 0
OBAY OIYHE A2t
10,0003 *1,3005*50% 6,500
Al 3,250
T 3,250
THS & AFASIAI oA 4,000 4,000 0
Al 1,250
- 2,750
206 MH=H| 1,500 1,500
01 M=4l 1,500 1,500
OJl=ge 408 22 2
1,500,000& 1,500
307 212+01& 2,500 2,500 0
Al 1,250
T 1,250
02 2B YA E X 2,500 2,500 0
OFNS & AFS AL AL
25,0002 *100kg 2,500
Al 1,250




EAM: ZAlsE
B ESpAMAY
el JIEEdEY A oY (Gt H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| > 1,250
A B=24ety 2l HE 600 600 0
= 180
Al 210
- 210
307 212+01™ 600 600 0
= 180
Al 210
- 210
02 QIZHBAAIEE R 600 600 0
O4 S2asty gi Ml
10,0002 x605 600
= 180
Al 210
- 210
aXE 243 7,500 12,500 A5,000
= 6,000
Al 750
- 750
301 LPENZ 7,500 12,500 A5,000
= 6,000
Al 750
- 750
14 J|Et2 43 7,500 12,500 A5,000
O&XME Xel 2a= 2,500,000& *35 7,500
= 6,000
Al 750
- 750
AHE Hel X3 1,000 1,000 0
201 L2 AY| 1,000 1,000
01 AtR2elt] 1,000 1,000
OaXZE Mel & ™S
200,000& 55 1,000
SAXE GPS S| MAIEE X3 2,520 2,520 0
= 1,260
Al 630
- 630
307 212+01 ™ 2,520 2,520 0
= 1,260
Al 630
- 630
02 QIZHAAAIEER 2,520 2,520 0
OSAXE GPS TH2D| AAIERA XA
60,0002 420K 2,520




2A:

CAsE
3 sMFYHI
Rl DS gEY 2o ol EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 1,260
Al 630
- 630
ST AL 2t 18,165 16,649 1,516
101 e124d| 12,645 10,769 1,876
02 JIEtx 2= 12,645 10,769 1,876
OBEYAL0AA 22 12,645
—goigs N3 900, 0002 *1%3 128 10,800
—lgay 10,0002 12 122 120
— ARl R g
9,579 x15A1 21 * 123 1,725
201 el 4,800 4,800
01 At22t2lt] 4,800 4,800
OFHXI&bI 400,000 x1H« 122 4,800
202 04l 720 1,080 A360
01 =LHA LI 720 1,080 A360
OJlzge=dE830t|
60,0002 x1&x 122 720
HE HLES 5,123 5,427 A304
= 3,028
Al 1,048
- 1,047
307 gl2to| & 5,123 5,427 N304
= 3,028
Al 1,048
- 1,047
02 2B YA E X 5,123 5,421 A304
OFNS Ol==At 2,313,000& 2,313
= 1,623
Al 345
T 345
OFHS ogmal §& Al=bl
2,790,000& 2,790
= 1,395
Al 698
T 697
OFNS S 23Nl 20,0002 20
= 10
Al 5
- 5
=Ils2 Xz X 9,000 6,000 3,000
Al 4,500
- 4,500




A EAISSHL
B ESpAMAY
Rl DS gEY 2o ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 9,000 6,000 3,000
Al 4,500
- 4,500
14 DBt 2 a=S 9,000 6,000 3,000
RIIS= ddR=H 60,0002 x1505 9,000
Al 4,500
- 4,500
2020 242 £X K& 900 0 900
Al 270
- 630
401 Al HIZL S 0HYI 900 0 900
Al 270
T 630
01 Al&H| 900 0 900
Z220| 24 EXHIS
450,000 +2K 900
Al 270
- 630
FFHES Bleds=E A=RKSE 16,000 0 16,000
Al 6.000
- 10,000
301 2eEN= 16,000 0 16,000
Al 6,000
T 10,000
14 JIEt2d=3 16,000 0 16,000
OFAASE elsE 2A=XE
200, 0002 *1005=+80f% 16,000
Al 6,000
- 10,000
Y A=D1 =F 40,732 49,024 N8,292
= 7,776
Al 16,478
- 16,478
LHEXIEH XA 180 0 180
= 0
Al 45
- 45
307 elzto| & 180 0 180
= 0
Al 45
- 45
02 LB A HE X 180 0 180
OZLEXIHH XA 180,000& 180




A EAISSHL
B ESAAMY
ohelr S4H ALFD|E B EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 0
Al 45
- 45
NE2ar222 XE AL 1,080 1,080 0
Al 540
- 540
307 lztol & 1,080 1,080 0
Al 540
- 540
02 2B YA E X 1,080 1,080 0
ONEEar2X M A2A
120,000 * 15 +60f% 1,080
Al 540
- 540
E=PIPAIN IDNLE! 22,000 24,500 A2,500
Al 11,000
- 11,000
307 glztol & 22,000 24,500 22,500
Al 11,000
- 11,000
02 2B YAIAE & 22,000 24,500 2,500
OL3IIA XIS AE 22,000,000& 22,000
Al 11,000
- 11,000
IIEER AdHMZM XA 168 168 0
Al 84
- 84
307 212+01& 168 168 0
Al 84
- 84
02 LB HAHE L 168 168 0
ONE2a dFMZM X2
7,000 *40kg+60% 168
Al 84
- 84
IIEEMHESE X2 300 7,280 6,980
Al 150
- 150
307 212+01™ 300 7,280 26,980
Al 150
- 150
02 LB HAHE L 300 7,280 26,980
OJ=MalEE XA
300,000 %1 300
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1,008

1,008

1,008

A200

A200

A200

A200

MEE
Ofl &k2h

15,99

15,99

15,99

3,150

200

200

200

1,000

1,000

1,000

Ofl &F2H

150
150
17,004
7,686
4,659
4,659
17,004
7,686
4,659
4,659
17,004
17,004
7,686
4,659
4,659

2,950
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i

Al

i

Al

fir
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2,150
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200
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100
200
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800
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200
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800

fir

fir
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